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Learning Goal 6.1

equations.

Using identities to reduce complexity in expressions and solve

More Questions - Solutions

Pythagorean Identities Quotient Identities
sin? x + cos? x =1 tan? x + 1 = sec? x sin x . cos x
= cotx = —
1+ cot? x = csc? x tanx =~ — sin x
1 1 1
CSCX = — secx = cotx =
sinx cos x tan x

1. State any restrictions (non-permissible values) in radians for the following identities then simplify.

secx sinx + tanx c cscx —sinx
tan x 1+ cosx ' cot x
tanx # 0 1+cosx#0 cotx #0

{x|]x #0+nm,n €Zx € R} cosx #= —1

{x|lx #m+2mn,n € Z,x € R}

1
— cosx/ . : in
/smx _sinx +°% */cos x
CcoS X 1+ cosx
1 cos x cosxsinx + sinx/
= X — _ COS X
cosx sinx =
1+ cosx
1 ) X
= cosx sinx + sinx 1
sin x = X
— cscx COS X 1+ cosx
- sinx (cosx + 1) 1
= X
COoS X 1+ cosx
sin x
CcOS X
= tanx

Assignment p.296#1-12,14-17,C1, C2

/i
{x|x ¢E+nn,n €Z,x € R}

_ 1/sinx —sinx
€os x/sinx

1—sin?x/
sin x

€05 x/sin X

1 —sin?x sinx
X

sin x COS X
1 —sin? x

CoS X
cos? x

CoS x
= COoSs X

Quiz Next Day!
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2. Provetan? x + 1 = sec? x.

tan® x + 1 sec? x

sin? x

cos? x
sin® x 4 cos? x

cos? x
1
cos? x
= sec? x

Assignment p.29% #1-12,14-17,C1, C2 Quiz Next Day!



